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LS. Calculus

For #1-4, match each function with its antiderivative.

1. F(x)=sinx A. F(x)=cos(1-x)
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3. £(x)-sin(1-x) C. F(x) -%cos(x’)
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4. F(x)= xsinx D. F(x)=sinx - xcosx ; |
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Evaluate each indefinite integral.
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Solve each initial value problem.
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Find th
e function f(x) that satisfies the
given conditions.

21. f'{x):x3_2x+l f'(l)=o
,Wy)*lx"- i r(0)-4 22.
y XX +x 1€ ()= £ =i
0=4-1t1( ’ W f(9)=%
(% = 2%
i=dyi- Xrxd Sy 2x* v C,
Ly - "xs -4y $X7 Ayt I:-‘é'ﬁ*(, P2
L] (’1’ e o -Q!V\:,%x'{'.f-g
' = 4o ¥
D1y gt.;xt;-xag,xa;xfg , W R
2r ST E 5 )
23. f"(x)=x-cosx £'(0)=2 D +-—(€3+(; ‘Wﬂ ‘5"" 5
—Q] ROY==% 24. £"(x C21:’,; =
W) 2% = 5aK + € ()‘"J_X S
. i % £(0)=2
(D - C{ ‘c ’Y X > X
‘W"y}})\l‘\'smw A “Y) .Q)(’+ ‘1)(’ ¢
= _ 53 %
'E’Y)”;.'sz.tcobx.‘.gx{(l 3 ‘&-}3*6,
- = e o C - +
2 H’C';\ ‘Q'[ _l 4.3 . B
C).=-3 ")‘Qx’*g.x'”’;%
e r
/Sfx\ X’(Cosmax 3 mx>:°7’3)< 425K *‘:&“C;.
P
i 2 4, Z A o )
X +E’)x #; /
/



